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Proving Lines Parallel HW

Given the following information, determine which lines,
if any, are parallel, State the postulate or theorem that

Justifies your answer

j.58= 219 250 = 011
3. 22= 218 d.maeBh +meol2 = 180

5. PROOF Provide a reason for each statement in the proof of Theorem 3.7.

Given: 21 and 22 are complementary.
BC 1 CD
Prove: BA || CD
Proof:
Statements

B

2
1

A

C

Reasons

7 e

_ghw w2

"ﬁjéa ETi
T

1.BC 1CD

2.msABC = ms1 + ms2

3., 2.1 and 22 are complementary.
domsl +ms2 =90

5. msABC = 80

6.BA 1L BC

7.BA| CD

6. Given: /1= /2,/1= /3

Prove: AB || DC
(Hint: this is only 3 steps)
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For Exercises 1-6, complete the proof.
Given: /1= /5,215 = /5
Prove: € || m, rll s
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Statements Reasons
1.£156= /5 1.
2. ,13 =215 2.
3. 45= /213 3,
4.7l 4,
5, 5. Given
6. 8. If corr 4 are =, then lines ||.

Given:22 and 238 are supplementary.
Prove: AB || CD

1 1
2. 2.
3.<1+<2=180 3.
4. 4. Substitution
5 5.
6. 6

Review from last unit: Justify THE SET UP!! Then solve for x.

Find v so that € || m.

1.
{5x — 5)"\ ¢ 2, i
f. (4x 4 208

\6x— 207 m g
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5. PROOF Provide a reason for each statement in the proof of Theorem 3.7.

Given: 21 and 22 are complementary. BrS c
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For Exercises 1-6, complete the proof. r s
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Review from last unit: Justify THE SET UP!! Then solve for x.

Find x so that € || 7.
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5x-5=2lbx-20 2 ok €xr Oyxri0=Lx = ok Dx+20=70
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